
01

013

MODULAR BORING SYSTEM

* CARTRIDGE ASSEMBLIED IN BORING HEAD
* CARTUCCIA MONTATA NELLA TESTINA

* EINBAULTER MONTIERT AUF DEM KOPF
* CARTOUCHE MONTÈE DANS LA TÊTE 

* КАРТРИДЖИ УСТАНОВЛЕНЫ НА РАСТОЧНУЮ ГОЛОВКУ
* 安装在刀头的刀片座 

FINISHING BORING HEADS WITH CARTRIDGE (*)
FEINBEARBEITUNGSKÖPFE MIT EINBAUHALTER (*)

ПРЕЦИЗИОННЫЕ РАСТОЧНЫЕ ГОЛОВКИ С КАРТРИДЖАМИ (*)

TESTINA DI ALESATURA PER FINITURA COMPLETA DI CARTUCCIA (*)   
TETES D’ALESAGE DE FINITION AVEC CARTOUCHE (*)       
带刀片座的精镗头 (*)                                            

CODE N. DESCRIPTION MD No. d CARTRIDGE
1. 2.

D D1 L L1 D L2 L3 H

533-90001 MD2-FNT2547 2 14
*534-90001 25-33 -
534-90002 32-40 24 35,5 33 36-40 11,5 21,5 12,5
534-90003 39-47 39-47

533-90002 MD3-FNT3260 3 18
*534-90004 32-42 -
534-90005 41-51 31 40 37 46-51 10 27 16
534-90006 50-60 50-60

533-90003 MD4-FNT4174 4 22
*534-90007 41-54 -
534-90008 50-63 40 47 43 53-63 12 31 20
534-90009 61-74 61-74

533-90004 MD5-FNT5395 5 28
*534-90010 53-70 62-70
534-90011 65-82 50 57 52 65-82 15 37 25,5
534-90012 78-95 78-95

533-90005 MD6-FNT68150 6 36
*534-90013 68-100 80-100
534-90014 94-126 64 71 67 94-126 23 44 32,5
534-90015 118-150 118-150

CARTRIDGES FOR FINISHING BORING HEADS
EINBAUHALTER FÜR FEINBEARBEITUNGSKÖPFE 

КАРТРИДЖИ ДЛЯ ПРЕЦИЗИОННЫХ РАСТОЧНЫХ ГОЛОВОК 

CARTUCCE PER TESTINE DI ALESATURA DI FINITURA   
CARTOUCHES POUR TETES D’ALESAGE DE FINITION        
精镗头的刀片座                                             

 CODE N. DESCRIPTION MD No. INSERT INSERT 
SCREW Qt.

534-90001 CRF-2533/MD2
534-90002 CRF-3240/MD2 2
534-90003 CRF-3947/MD2 TC..06T102.. 811-286007 1
534-90004 CRF-3242/MD3
534-90005 CRF-4151/MD3 3
534-90006 CRF-5060/MD3
534-90016 CRF-2735/MD2
534-90017 CRF-3240/MD2 2
534-90018 CRF-3947/MD2 CC..0602.. 811-226021 1
534-90019 CRF-3242/MD3
534-90020 CRF-4154/MD3 3
534-90021 CRF-5060/MD3
534-90007 CRF-4154/MD4
534-90008 CRF-5063/MD4 4
534-90009 CRF-6174/MD4 TC..1102.. 811-226018 1
534-90010 CRF-5370/MD5
534-90011 CRF-6582/MD5 5
534-90012 CRF-7895/MD5
534-90013 CRF-68100/MD6 6 TC..1102.. 811-226018 1
534-90014 CRF-94126/MD6 6 TC..1102.. 811-226019 1
534-90015 CRF-118150/MD6 6 TC..1102.. 811-226020 1

 INSERT  
WRENCH CODE N. QT. INSERT 

SCREW CODE N. QT.

T6 816-122009 1 M2*4.5 811-286007 1
T6 816-122009 1 M2*5 811-286008 1
T8 816-122010 1 M2.5*6 811-226018 1
T8 816-122010 1 M2.5*6 811-226018 1

 CODE N.  LOCK  
SCREW CODE N. QT. LOCK SCREW 

FOR CARTRIDGE CODE N. QT. ADJUSTING 
WRENCH CODE N. QT.

533-90001 M4*5 811-401163 1 M3*6 811-402086 1 S2 816-111035 1
533-90002 M5*6 811-401164 1 M4*8 811-402087 1 S2.5 816-111036 1
533-90003 M6*10 811-401165 1 M5*10-S3 811-402088 1 S3 816-111037 1
533-90004 M8*12 811-401166 1 M5*10-S4 811-402089 1 S4 816-111038 1

� � � � � � �-� �-� �
�      




